
 
What procedures for finding the derivative have you learned so far this year? 
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Unit 3 
 
 

 ______________________ 
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3.5 Selecting Procedures for Determining Derivatives  
Calculus 
1.   If 𝑓(𝑥) = 𝑥ଶ ln 𝑥, then 𝑓ᇱ(𝑥) =  
 
 
 
 
 
 
 

(A)   2 
 

(B)   𝑥 + 2 ln 𝑥 
 

(C)   2𝑥 ln 𝑥 
 

(D)   1 + 2𝑥 ln 𝑥 
 

(E)   𝑥 + 2𝑥 ln 𝑥 
 

 
 
2.   If 𝑓 and 𝑔 are functions such that 𝑓൫𝑔(𝑥)൯ = 𝑥 for all 𝑥 in their domains, and if 𝑓(𝑎) = 𝑏 and 

𝑓ᇱ(𝑎) = 𝑐, then which of the following is true? 
 
 
 
 
 
 

(A)     𝑔ᇱ(𝑎) =
ଵ

௖
 (B)     𝑔ᇱ(𝑎) = −

ଵ

௖
 (C)     𝑔ᇱ(𝑏) =

ଵ

௖
 

(D)     𝑔ᇱ(𝑏) = −
ଵ

௖
 (E)     𝑔ᇱ(𝑏) =

ଵ

௔
  

3.5 Selecting Procedures (Derivatives) 
Write your questions 
and thoughts here! 

Calculus Notes 

Practice 



3.   Find the equation of the tangent line to 9𝑥ଶ + 16𝑦ଶ = 52 though (2, −1). 
 
 
 
 
 
 
 

(A)     −9𝑥 + 8𝑦 − 26 = 0 (B)     9𝑥 − 8𝑦 − 26 = 0 (C)     9𝑥 − 8𝑦 − 106 = 0 

(D)     8𝑥 + 9𝑦 − 17 = 0 (E)     9𝑥 + 16𝑦 − 2 = 0  

 

4.   What is the slope of the line tangent to the curve 𝑦 = arctan(2𝑥) at the point when 𝑥 =
ଵ

ଶ
? 

 
 
 
 
 
 
 

(A)   
ଵ

ସ
 (B)   

ଵ

ଶ
 (C)   1 (D)  2 (E)  4 

 
 

5.  If 𝑓(𝑥) =
ଷ௫మା௫

ଷ௫మି௫
 then 𝑓′(𝑥) is 

      

 

    
 

(A)  1 
  

(B)  
଺௫మାଵ

ଷ௫మି௫
  

 

 (C)  
ି଺

(ଷ௫ିଵ)మ
  

 

(D)  
ିଶ௫మ

(௫మି௫)మ
  

 

(E)  
ଷ଺௫మିଶ௫

(௫మି௫)మ
     

 
 

 

6.   If 𝑓(𝑥) = ඥ1 + √𝑥, find 𝑓′(𝑥).    
 
 
 
 
 

(A)   
ିଵ

ସ√௫ඥଵା√௫
 

 

(B)   
ଵ

ଶ√௫ඥଵା√௫
 (C)   

ଵ

ସඥଵା√௫
 

(D)  
ଵ

ସ√௫ඥଵା√௫
 (E)  

ିଵ

ଶ√௫ඥଵା√௫
  

 



7.  A curve is generated by the equation 𝑥ଶ + 4𝑦ଶ = 16.  Determine the number of points on this curve 
whose corresponding tangent lines are horizontal.  

 
 
 
 
 
 
 

(A)   0 (B)   1 (C)   2 (D)  3 (E)  4 
 
 

8.  
ௗ

ௗ௫
(ln(3𝑥) 5ଶ௫) = 

 
 
 
 
 
 
 

(A)   
ହమೣ

௫
+ 2 ln(5) ln(3𝑥) 5ଶ௫ 

 

(B)   
ହమೣ

ଷ௫
− 2𝑥 ln(3𝑥) 5ଶ௫ (C)   

ହమೣ

௫
− ln(5) ln(3𝑥) 5ଶ௫ 

(D)  
ହమೣ

ଷ௫
+ 2 ln(3𝑥)5ଶ௫ (E)  

ହమೣ

௫
+ ln(5) ln(3𝑥) 5ଶ௫  

 
 
9.   Let a function 𝑓 be defined as 𝑓(𝑥) = 𝑥ଷ − 2𝑥 − 4 for 𝑥 ≥ 1.  Let 𝑔(𝑥) be the inverse function of 

𝑓(𝑥) and note that 𝑓(2) = 0.  The value of 𝑔ᇱ(0) = 
 
 
 
 
 
 
 

(A)   
ଵ

ଵ଴
 (B)   1 (C)   4 (D)  −2 (E)  −

ଵ

ଶ
 

 
 

10.   
ௗ

ௗ௫
൫sinିଵ 𝑥 + 2√𝑥൯ =  

 
 
 
 
 

(A)   −
ଵ

ୱ୧୬మ ௫
+

ଵ

√௫
 (B)   

ଵ

√ଵି௫మ
+ 4√𝑥

య  (C)   
ଵ

√ଵି௫మ
+

ଵ

√௫
 

(D)  
ଵ

√௫మିଵ
+ 4√𝑥

య  (E)  
ଵ

√௫మିଵ
+

ଵ

√௫
 

 

 


